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BP-1506
B. Com. (Sem. - II) Examin ? No.
April/May - 2014 )l

Fundamentals of Statistics - II :

Time : 3 Hours] [Total Marks-: 70
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ENGLISH VERSION

Instruction : All questions carry equal marks.
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Give answer (any four) :

(1) Give limitations of linear programming.

(2) Explain transportation problem.

(3) Explain replacement problem.

(4) Prépare a PERT chart for the following project.
Activity 1-2 1-6 2-3 2-4 3-5 4-5 6-7 5-8 7-8
Time 8 4 14 7 13 8 10 5 2

(5) What is float time ? How is it found out ?
(6) Explain the fundamental principle for solution
of linear programming problems.

(a) Explain replacement problem with formula.
(b) Solve the following problem for the
maximum profit.
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3 (a) Give linear programming uses and assumptions. 7 A B C D |Supply
(b) Determine the minimum value of the function 7 0, 2 5 3 2|25
Z = 3x+b5y on the basis of following conditions 0. 4 8 2 6 |35
SxHy <12, 2x-y2-2, x<4,y22x20 -
2x+3y212 0, 4.7 9 330
'OR 0_I 2 11t 4 8 |10
3 (a) Give linear programming mathematical 5 Demand | 30 35 20 15
formulation.
: : . e >
() Give optlm?l feasible solution. ) - (¢) For a transportation problem having 5 origins 2
(¢) An enterprise of a small scale industry 7 L .
. and 6 destination. How many constraints can
manufactures two types of cupboards X and be £ 49
Y. For manufacturing both the types of - - € formed =
cupboards two machines P and Q are to be g g OR
used. The machie P is to be used for 4 hours o o 4 Cive t tati bl . h cal 5
and the machine Q is to be used for 2 hours £ z la) Lave .rapspm atlon problem 1n mathematica
to manufacture each cupboard of type X and é é fo_l mulat.l'on. . . .
to manufacture such cupboard of type Y the = = (b) Find basic fea.cz;xble solution of the following 7
machine P is to be used for 4 hours and Q ug ug problem by using Vogel's method.
is to be used for 3 hours. The machine P can g S
be used at the mot for 24 hours and machine = = _
can be used at the most for 14 hours. A profit ? 2 A B C D E F |Suply
of Rs. 200 is earned on each cupboard of X 5 5 0, 12 11 13 13 16 1550
type and that of Rs. 250 is earned on each 0, 13 12 12 14 13 10|40
cupboard of Y type How many cupboards of 0. 13 15 14 12 14 11 leo
each type should be manufactured so as to S
earn maximum profit ? 0, 14 12 11 11 10 1231
Demand | 30 50 20 40 30 11
4 (a) Explain transportation problem North-West 6
corner rules. -
{(b) Obtain feasible solution of the following 6 {(¢) What is operation research ? 2
" problem by matrix minima method.
5 (a) Explain the construction of a network. 3
(b) Give characteristics of PERT. 4
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(¢ For the following information find expected 7
times of the activities and prepare a PERT
chart. Determine also critical path.

Activity 1-2 1-3 1-4 2-5 3-5 4-6 5-6
Optimistic 7 7 13 7 13 13 19

Time
Most likely 7 13 13 7 31 31 31
Time
Pessimistic 25 19 31 7 49 43 55
Time
OR
5 (a) Give the advantage and limitation of PERT. 6
(b) Determine critical path for the following 8

project. Find EFT, LFT and Float time.
Activity 1-2 [-3 2.3 2-4 3-4 4-5
Days 20 25 10 12 5 10
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